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@ 3x-2x-8=(x+A)(Bx+4)

© 4x>+Cx-3=(2x-1)(2x-D)
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@3x—2x-8=(x—2)(3x+4)

LA=-2,B=3
© 4x> + Cx -3 = (2x-1)(2x + 3)
. C=4,D=-3

A=-2,B=3,D=-3, C=40°|B2 /I Z AL 2|t}
2 29 C, B, A, D °|th.




3. (x-2)x2-3(x-2)x-10(x-2) & JsEslotA?

@) (x-2)(x-5) (x+2) @ (x-2) (x+5) (x+2)
® (x=2)(x=5)(x+3) @ (x=2)(x+5)(x-2)
® (x=2)(x+5)(x-3)

B

A=x-2 2 A5
(x=2)x>=-3(x=2)x-10(x-2)
= Ax? - 3Ax - 10A

= A(x® - 3x - 10)
=A(x-5)(x+2)
=(x-2)(x=5)(x+2)




4. OFF A2 -xy-x? +xy 9 A5=?

@x-1 @x+1 @ y+1 @ xty O x-y

Py? =%y —xy® +xy = wy(xy —x—y+1)
=xy {x(y-1)- (-1}
=xy(x=1)(y-1)
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@x—2 @ x-1 ® x+1
@ x+2 ® 2x+1
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—2y (3x2 - Tx+ 2) L R e L Ok
= —2y(3x2—7x+2) —|—x(3x2—7x+2)
= (x-2y) (3x* - Tx+2)

= (x-2y)(Bx-1)(x-2)
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